6. Fitt> 42—

(D—1 BeKEHE (A3 -HFIR) (HAAZ : mg/L)

bt v — | b s # — | B R L 2 — | bt o 2 — [ #is bt o 2 —

1 |KFEA A BRE (pH) sk 5. 8-8. 6wtk 5, 8-8. B[tk 5. 8-8. 6|k 5. 8-8. 6|k 5.8-8.6

2 (AP b FrolE R 2Rk & (BOD) skt 15 DL Flweer 15 LL Flekx 15 DL Fl#sk 15 LI Flekx 15 LI F

3 bRl Bk & (COD) sk 80 (60) [#x 80 (60) [* 160 (120) [* 160 (120) [* 160 (120)

4 [FlEME R (SS) sk 40 DL Tk 40 DL Flser 40 BL TFfser 40 DL Tl 40 DL T

A= | 5 | RIGE TR (fE/mL) sorx3, 000 LU T |#ekx3, 000 BL T [##43, 000 LL TF[##%3, 000 LL TF[##x3,000 LI T

|6 |EEEAE * 120 (60) [* 120 (60) [* 120 (60) [* 120 (60) |* 120 (60)
& g

T |HEEEE * 16 (8) [+ 16 (8) |* 16 (8) [+ 16 (8) [+ 16 (8)

5 8 ] PR x 5L T« 5 LL T 5 Ll T« 5 Ll Fx 5L T

J IV b A S

#] 9 BRE YRR | * 30 BL T|* 30 BL T 30 BL T 30 LU F[x 30 LT

- 107 =/ —n8 * 5 LL F|* 5 LL F* 5 L F* 5 LL F* 5 LLF

| R CE (LAY * 3 LLFx 3 L F|* 3L Flx 3 L Fx 3 LT

B 12 [#Es R OZ D La * 2 LL T 2 LLF* 2 LL T 2 ML OT* 2 BT

13 [Bk M 2D EY (BRIE) * 10 BL T |* 10 LL T+ 10 BL Ff* 10 BL F* 10 2L F

4|~ B ROZDIEY (FERENE) * 10 BL T[* 10 LL F|* 10 LL F* 10 BL F* 10 B F

157 7 AR OEDLEY * 2 LL T 2 LI T 2 L OT* 2 BLOF* 2 T

16 |=v 7 /v Fok 2 DLk 2 VL e 2 LI Rk 2 LL Bk 2 LT

1|7 FIULRRZEDLEDY %k 0.03LL T[#x  0.03LL Fl#* 0.03 L TF|#* 0.03 L F[#* 0.03 LA F

2 [T Ew wok 0.5 LL Tk 0.5 LL Tk 1 BL T ek 1 LL e 1 LLF

3 ARV ALED 0.5 L1 Fl#x 0.5 LL Fl*= 1 Bl Rl I L ek 1 U TF

4 (SR N DL EW * 0.1LL F|* 0.1L0L F|* 0.1 LL Fl* 0.1 LL F* 0.1 L F

5 [Nl v 2MbEY sk 0.250L Fl#x  0.25LL Fl#x 0.5 LL Fl#=* 0.5 LL Fl#* 0.5 L F

6 |[OFEXROZEDILEY * 0.1LL F|* 0.1LL F[* 0.1 BL T 0.1 BL Flx* 0.1 LA F

7 [KER, T X NKIBEOMOKILEY [ 0.005LL F|* 0.005LL F[+ 0.005 LL F[* 0.005 L F[* 0.005 LA F

8 | 7L LIKER(LE W s S nanz s av s tkprishav s ks av s ekpt sz

9 |RVHbEe 7 ==/ (PCB) ¥ 0.003LL T+ 0.003LL Fl[* 0.003 2L F|* 0.003 LL F[* 0.003 LA F

| YV ZouF L * 0.3 2L Fl* 0.3 L4 F[* 0.3 LL F|* 0.3 LL Fl* 0.3 L F

i n|F o7 FL 0 * 0. 1LL T[* 0. 1LL F* 0.1 LL Fl* 0.1 LL FI* 0.1 L F

2\ reaxx * 0.2 LL T]* 0.2 LL T[* 0.2 LL T|* 0.2 LL Ffx* 0.2 BL F

el 13 DU Ak ER SR ¥ 0.02 L0 Ff* 0.02LL Fl* 0.02 LL Flx* 002 L0 Fl* 002 B F

14|1,2-Y7unpnxi *  0.04LL Fl* 0.04LL Fl*x 0.04 L F[* 0.04 LL Fl|*x 0.04 L F

5|1, 1-¥Y7rrF L * 1 UL Fl* 1 LU F* 1 LL Fl* Y S N £ 1 LT

H16|>A-1,2-Yr/npnzF L * 0.4 LL T+ 0.4 LL F* 0.4 LL Fl* 0.4 LL F* 0.4 UL F

17|, L,1-rY 7 g * 3 LLT[* 3 LL T 3 BL T 3 BLOF* 3BT

18, L,2-~NV s x  0.06LL Fl* 0.06LL Fl*x 0.06 2L F[* 0.06 LL F|* 0.06 2L F

H o ,3-YZ7uuray *  0.02LL Fl* 0.02LL Fl* 0.02 BL F[* 0.02 LA Fl|* 0.02 L F

20(F v 7 A * 0.06 LL Fl*x 0.06LL F[+ 0.06 LL F[+ 006 LL T+ 006 L T

203~ * 0.03LL Fl* 0.03LL F|* 0.03 LL Ff* 0.03 LL F|* 0.03 BL T

22 |FAR BT * 0.2 LL T 0.2 LL F* 0.2 LL F* 0.2 LL F|* 0.2 LL T

23[R * 0. 1LL F|* 0.1LLF|* 0.1 LL Ff* 0.1 LL Ff* 0.1 LA T

24 |2 L RO FEDLEY * 0.1LL Fl* 0.1LL FJ* 0.1 LL F* 0.1 LL FI* 0.1 L F

25 [1Z 2 FRZEDILEY ok 10 LL T | 10 BL T [#* 230 LI F|wx 230 LA |k 230 L T

26 [ 5o R R OEDILEY ok 8 LA T 8 LL [+ 15 DL R [ 15 BL [ 15 L F

27 ;@ég%goééiz\%MKé% B e o0 Tl 100l 100 Flx 1000 Fle 100 w0 F

28 |1, 4~V A F ¥ * 0.5 LL T[* 0.5 LL F|* 0.5 LL F* 0.5 LL F* 0.5 LL T

LEAES] () KEBEBEEEE (BFR4EIEEF13875) | (k) RUENNSRBITE33 S
CERRTH12H25H) | (ekx) FAGEE (BBRISSHIEARETIR)
T U= TEILOWNWTIR, REASH2E CERI3ETALIR) 12X,
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(D—2 $EKEZE (8

(BEAT @ mg/L)

—_

ROl SE Bk & (BOD)

20LLF

frEHR 9 0 %Ll E

KA 200X LT20LTF

2[FEWE. (SS)

50LLF

RER 7 5%

KA 20 0Zx LTS5 0LLF

(2) RETDHFEDBHEZE (RHHR)

(HAT : mg/L)

IH H kL T AHUE

1 |7 KA E W R S 7anz &

2 [KEEUTZEDILEY Mg 1 LI2->%0. 00504
3| RI U A XITZEDILEY ik 1 LIZ> %0, 0904 F
4 |$nTZE DL EY g 1 LIc>%0. 304 F
5 |G ILEY B 1 LICOE 1T

6 (/N7 v AMEAW g 1 LI > X1. 5L F
7 |ME T FDILED Rl 1 LIZ> & 0. 3LLF
8 |27 U MEW B 1 LICHOX 1T

9 [NV~ ==/ (PCB) iR 1 LIZ->%0. 00324 T
W0|rY 7B FL Mg 1LIC>X0. 1LLF
N R /A= === A P g 1LIC>X0. 1LLF
12l r7aa Az e 1 LI2>%0. 2L F
13 | UL iR 58 i 1 LIc> X0, 0204 F
14|1,2-Y7vnxi g 1 LIC>X0. 0401 F
5|, 1-Y7egxFL MR 1LICOE1LLF
16|>A-1,2-Y7manxF L e 1 LIZ> %0, 4LLF
17|, ,1-hY 7oz i FiR 1LIZ>&E3LLF
18|1,1,2-h) /7> g 1 LIC>X0. 0601 T
19|1,3-Y 7oy g 1 LI2>X0. 0201 F
20 |57 5 A ik 1 LIS %0.06LL
21 |v~=v e 1LIZ>X0. 0304 F
22| F A H VT ik 1 LIC> X0, 2LLF
23 | R g 1LIC>X0. 1LLF
24| LU R EDILEY g 1 LIC>X0.30LF
251, 4~ A X% i 1 L2 > X0. 501 F

_79_




(3) REBiH BRRLLIE)
F1585 GUbBERROMR L)
(Wifif - p pm)

MR EE RS DS 1IN S =
1|7 N + = TIREHFICEB T DEHENE T @IU\T
2 | A F v X v B T H UNRKHFIEBITAEHEERNE IGO0, 00280 T
3 |Hk b 7K FIRKTICB T DEGENE 7 D0. 02LLF
4 |HR 1k A ¥ JVRZHRIZEBIT D ERENE 7 D0.01LLF
5 | — fit 1k A v JUIREKHINZ BT 2 EF RN E 45700, 00924 T
6 |k~ ) A va b 7 2 VIREHFICEB T D EHEERINE T4 00. 00504 T
(B VR % 7 L F ok NMREHICHBIT D2 EHFENE 4300, 05LLF
8 |7 v v A4 v 7 v F b MNKRFICBTDLIEEEINE IGO0, 05LL T
9, v =~ 7 F T T b FIRAPICBTLEEENE T 7D0. 00900
|4 v 7 F L 7 L F b FIRKQFIZBTOIEHEENE5D0.02LLF
1|, n» <~ A N L b 7 A F b RKKPICBTEERNE 45 D0. 0090 F
21 Y N v o 7 A F b RKRKIHFICBTLEEFENETH00.003LLF
13 | v A v J — S RGHINZBIT D EHENE 5300, 9L T
14 |FE iz - a JUREHFNCBIT DEHELRNE 5 ODBU\—F
A F v 4 v 7 F b UNKRKHFIZBTLEEENPE IO 1LLT
16 |k JL - VNREKHFICHB T A EEENE T OI0LL T
17 [= ¥ [ VRGBT D EHENE 5300, 4L T
18 [ T L VNRKHFICBTAEEEDE IO 1T
19 |77 = 5 7 v fig| REHIZI T A& AN H 745300, 03LLTF
20 |/ Jb ~ IV [ fe| KRS 25 /RN EH T4 00.001LL T
21 |/ JL ~ Jb B3 B | RKHICH T 25/ E JT4300. 000984 F
22 |14 V B B | R PIZI T 5B AR EH T 57 D0. 00124 T

OERBSIEES 450 EICL D (4TS5 H31H)

E ISR (HEH K)
(HAT : mg/0)

FR R E R s PEH K OEEOFFR&ME (g, L)
PEHK D & Q=0.001 [0.001 <Q= 0.1 0.1<Q
1 AFIVRA VI T H 0.03 0. 007 0. 002
2 fifb k% 0.1 0.02 0. 005
3 ik A F v 0.3 0. 07 0.01
4 ik A T 0.6 0.1 0.03

OFRPIIEIES A XOBEIZ XD (4745 H31H)
() Q : B HEH S 2 Ptk o & (BZ : m3,sec)
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(4) RAER, DEKEOHRE

ANIETKGE S
B bt ¥ — gkt ¥ —
FRAKEL | B | RIER R RRKN LR - (R GAKEL | FOFE | REOR (RARK|
(FERD) |k | WVER K B | WLBE K B [ AR GERD (FERD) | ALK & | WLHE K | JLHE K &
R (m) () () (m) (k&) (m) (m) (m) ()
W LI
44 350,614 1,103[ 2,449 41 BEAR A
45 383,020| 1,049 3,519 2,890
49 931,106| 2,551 7,576| 4,369
50 943,986| 2,579 6,137 5,015
54 1,258,036 3,437 8,636 6,647 42, 690
55 1,415,224 3,877 6,545 5,233 43, 642
59 1,996,504 5,470 8,792 7,771 44, 782
60 2,317,229 6,349| 10,297| 10,254 45, 987
61 2,491,676| 6,827| 10,155| 10,132 46, 928
62 2,847,078| 7,779| 11,773| 10,060 48,939
63 3,105,924| 8,509 17,116 12,208 52,100
kot | 3,380,012 9,200 14,684 12,920 54, 156
2 3,655,835| 10,016| 16,201| 12,515 53,726
3 3,866, 172| 10,563| 14,886 13,199 55, 588
4 3,891, 040| 10,660| 14,085| 12,219 56, 342
5 4,245,076| 11,630| 19,586| 13,908 56, 064
6 4,440, 651| 12,166| 19,314| 16,816 57,410
7 4,547,867| 12,426| 19,704| 14,674 55, 642 433,038| 1,280 1,979 1,979
8 4,615,096| 12,644| 21,891 15,942 56, 171 910,024 2,496 3,807| 3,606
9 4,864, 904| 13,329| 18,969 17,545 56,877| 1,232,544 3,376 4,870| 4,499
10 5,095, 272| 13,960 23,017| 17,561 56,840| 1,463,507 4,009 5,760 5,046
11 5,427,052| 14,828| 24,326| 16,979 55,053 1,574,616 4,302 7,863| 5,797
12 5,520,467| 15,124 24,854| 19,663 53,188| 1,693,657 4,640 8,272 6,528
13 5, 747,642| 15,747| 28,298| 19,832 51,095 1,821,947 4,992 9,188| 7,325
14 5,892, 527| 16, 144 26,934| 19,716 49,338| 1,825,954 5,003 8,720 6,156
15 5,784,903| 15,805 27,203| 18,490 47,690| 2,026,755 5,536 9,339 6,759
16 6,084, 141| 16,668 32,525 20,642 47,024| 2,168,510 5,941| 20,695 7,768
17 5,860, 908| 16,057 32,595 19,719 43,422| 2,174,933 5,957 10,053| 7,344
18 5,859, 894| 16,054 35,046 20,310 43,186| 2,317,172 6,348| 14,202| 7,807
19 5,984, 015| 16,349 26,931| 22,034 39,690 2,502,967 6,839 10,822| 8,129
20 5,769,084| 15,805 28,652| 22,077 38,027| 2,606,183 7,140| 11,255| 8,732
21 5,883,740| 16,120| 36,559 19,334 35,736| 2,786,084 7,633 11,165 8,944
22 6,063, 280| 16,612 27,044| 19,077 31,843| 2,984,281 8,176 12,447 9,609
23 6,513,519| 17,797 46,500| 22,330 28,619| 3,092,431 8,449 19,186 9,238
24 6,287, 564| 17,202 31,584| 23,277 25,583| 3,126,992 8,567| 18,021| 8,897
25 6,525,611| 17,878 57,690| 21,917 23,687| 3,171,025 8,687| 37,609 9,092
26 6,275,848| 17,194 34,770 21,017 21,047| 3,145,452 8,618 15,390 9,419
27 6,009,197| 16,419 31,143| 20,555 20,137| 3,201,788 8,748 12,734| 9,349
28 6,261,895| 17,156| 42,264| 22,429 18,715| 3,315,249 9,083 20,261 9,789
29 6,256, 934| 17,142| 56,135 21,305 16,912| 3,366,932 9,224 31,312 9,748
30 6,487,572| 17,774 56,714| 21,412 16,436 3,442,958 9,433 35,482 10,048
4 | 6,052,705 16,537 32,958| 19,722 15,109| 3,371,815 9,213 18,198 10,095
2 6,338, 737| 17,366| 34,775| 20,402 14,695| 3,490,174| 9,562 18,197 10,954
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i e BR i O A N IR KB 436

EA) L N At o 7 — LR | A
FEAKE | B | BRR | AKE| B | BERKR [WRAKE| BEY | BRK -
(4F ) [BUKELHKER () [ABUKE QKR () [LBUKE| LK
EEN Co ) [ () () | Cod ) fCnd ) [Cmd ) [ Cmd )] Cod) ] (i)
w59 51,179 | 117 580 e
60 | 69,491 | 190 | 545
61 | 70,608 | 193 | 612
62 | 73,223 | 200 | 596
63 | 76,365 | 209 | 623
ot 78,049 | 213 | 563
2 | 80,327 | 220 | 542
3 | 79,375 | 216 | 546
4 | 76,234 | 200 | 563
5 | 72,468 | 199 | 479
6 | 69,477 | 190 | 525
7 | 52,202 | 143 | 486
8 | 55002 [ 151 421
9 | 55101 | 151 415
10 [ 54,400 | 149 | 400
11 | 53,464 | 146 | 374
12 | 52,228 | 143 | 363
13 | 54,232 | 149 | 357
14 | 52,687 | 144 | 342
15 | 50,704 | 139 | 342
16 | 49,405 135 337 | 18,355 | 50.3 | 105.5 T s
17 | 47,687 | 130 288 | 28,203 | 77.2 | 166.7 | 11,886 | 43.6 | 93.3 [N
18 | 47,618 | 130 | 308 | 30,578 | 83.7 | 182.6 | 28,448 | 77.9 | 173.3
19 | 48,812 | 133 | 309 | 29,235 | 79.8 | 212.8 [ 32,578 | 89.0 | 238.9
20 | 47,737 | 131 313 | 33,011 [ 90.4 | 178.7 | 41,450 | 113.6 | 215.9
21 | 48,055 | 132 | 346 | 34,554 | 94.6 | 185.1 | 48,581 | 133.1 | 231.9
22 | 48,033 | 131.6 | 268 | 30,784 | 84.3 | 173.2 | 50,940 | 139.6 | 246.2
23 | 59,062 | 161.4 | 562 | 31,343 | 85.6 | 190.4 | 50,537 | 138.2 | 315.8
24 | 45,104 | 123.6 | 244 | 30,065 | 82.3 | 165.3 | 50,260 | 137.7 | 249.2
25 | 49,380 | 135.3 | 583 | 31,485 | 86.2 | 264.9 | 51,927 | 142.3 | 699.4
26 | 45,771 | 125.4 | 293 | 29,520 | 80.8 | 158.7 | 48,936 | 134.1 | 266.5
27 | 43,165 | 117.9 | 213.5 | 26,805 | 73.2 | 157.2 | 47,349 | 129.3 | 237.1
28 | 43,487 | 119.1 | 248.7 | 27,860 | 76.3 | 152.5 | 45,375 | 124.3 | 244.9
29 | 41,544 | 113.8 | 342.5 | 26,057 | 71.3 | 164.9 | 44,723 | 122.5 | 313.2
30 | 41,207 | 112.9 | 555.7 | 25,820 | 70.7 | 227.6 | 44,284 | 121.3 | 733.8
4moE| 35,360 | 96.6 | 204.6 | 24,073 | 65.7 | 136.5 | 41,972 | 114.7 | 234.1
2 | 36,143 | 99.0 | 186.3 | 21,49 | 58.8 | 100.0 | 41,789 | 114.5 | 179.1
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i SURSES 7| DU S S

AL 5 — IR 5 — Tl 4 — A e 2 4 —
e |AKE BV | BRA |FAAR| B | HEK [MEAKR HFE | BRA |HAKE BV | RRA |
CGER) | AFAH: | JUFTACR | CER) | AR | AR R | APk Tk | (RN | AR | A
) | @) D | D | D | ) | ) | @D | @D | D | D | )
k6 2,154 14 -
7 5,758 16 -
8 5,721 16 -
9 5, 380 15 35
10 6, 387 18 35
11 6, 681 18 31 10, 641 29 36
12 6, 440 18 24] 15,933 44 72 4, 862 13 21 - - -
13 6, 560 18 26] 15,933 49 59| 15,933 27 35 - - -
14 6, 108 17 23] 18,755 51 58] 11,209 31 34 - - -
15 5,245 14 171 19, 624 54 63| 12,836 35 39 1, 338 3 -
16 5, 160 14 18 19,817 54 59| 12,373 34 38 1, 386 3 -
17 5, 348 15 201 20, 220 55 63| 12,354 34 36 1, 584 4 -
18 5,235 24 32| 20,297 27 36| 12,083 33 37 1,529 4 -
19 5,214 14 23] 19,632 54 85 11,953 33 43 1, 397 3 -
20 5,455 15 24 19,473 53 67 11,821 32 60 1, 404 3 -
21 5,503 15 = 17,291 47 —| 11,544 32 - 1, 381 3 -
22 9, 053 25 —| 16,827 46 - 9, 958 27 - 1, 489 4 -
23 8, 433 23 —| 16,956 47 —| 11,118 31 - 1, 499 4 -
24 9,551 26| — 16, 197 44 —| 11,193 31 - 1,410 3 -
25 %3, 089 8 —| 16,348 44 - 12,363 33 - 1,334 3 -
26 2,651 7 —| 15,945 44 —| 11,725 32 - 1, 254 3 -
27 2,661 7 16| 15,692 43 62| 11,623 31 42 1, 286 3 -
28 2,640 7 25| 15,360 42 62| 12,181 33 88 1,275 4 6
29 2,078 6 171 15, 280 42 63| 11,491 31 123 1, 307 4 5
30 2,133 6 —| 14,123 39 72] 10,428 29 213 — — —
S 1,978 5 —| 13,901 38 56 9, 265 25 46 — — —
2 2,405 7 141 13,033 36 53 9, 764 27 80 1,278 4 -
K 22~ 244 DR AR BHTITIR AJKDNEIA T, 264F DiE el B TSR O C 50 L 72 AFL3ASHRIC LY

TAKENB b0 EHEH S D,
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SEEEE AR S

WA v & — KPVEG b v 5 — - FREFA L 2 — IHFEG 5 —
I WAKE:| AR | BER [WAKE] A | RiR [WAKE|] B | AR | WRAKE|] BV | AR {5k
(CFERD) | AABRAK | ALFRK Y[ (FERT) | ALBEKH | ALBRAKH: | (FRRT) | ALBR/KHE | AABRAK | (FERT) | ALBR/K L | JLBE K 4
(mi) (i) (mi) (ni) (mi) (nf) (nf) (nd) (nt) (nd) (i) (i)

k10| 2,876 24 38| 4,051 34 52

11 8,913 24 41| 14,498 40 64

12 8,895 24 51| 16,118 44 73

13 9,072 25 50| 18, 404 50 79

14 8,416 23 40| 16,557 45 69| 17,869 99 126

15 7,901 22 39 17,029 47 66| 43,180 118 164| 14,844 81 110

16 7,642 21 41| 17,215 47 107| 46, 044 126 234 36,219 99 143

17 7,926 22 38| 17,283 47 82| 47,296 130 199| 38,808 106 144

18 7,273 20 42| 17,725 49 95| 46, 204 127 254| 41,255 113 163

19 6,937 19 35 19, 962 55 80| 46,216 126 188| 42,284 116 164

20 6,935 19 35 20,294 56 80| 43,873 120 188 42,442 116 164

21 7,095 18 —| 23,233 63 —| 42,659 117 —| 38,727 106 -

22 7,253 20 —| 22,159 61 —| 44,129 121 —| 39,488 108 -

23 7,616 21 —| 21,836 60 —| 44,534 122 —| 35,665 98 -

24 7,459 20 —| 20,130 55 —| 41,125 112 —| 32,425 89 -

25 7,219 19 —| 23,100 63 —| 42,755 116 —| 35,620 97 -

26 6,613 18 —| 22,811 62 —| 40,749 112 —| 36,312 99 -

27 7, 440 20 31| 17,327 47 97| 39,537 108 190| 30,600 83 104

28 7,262 20 37| 16,473 45 111 37,710 103 207| 30, 486 84 109

29 7,191 20 —| 18,916 49 —| 38,446 105 —| 30,084 82 -

30 6,915 19 —| 23,888 65 —| 37,909 104 —| 29,390 80 -
SRIE | 6,734 18 27| 22,917 63 —| 35,374 97 168| 28,947 79 99

2 6,513 18 30| 17, 604 48 100| 36,898 101 151 28,357 78 94

R MmNt v & — Vel v & — FOERE b v & — SEAC (AT S
WAKE| AR | HER [RAKE|] A | AR [WAKE] B | AR | WRAKE|] B¥EY | Ak i
(CFER) | AABRAK | ALFRK Y[ (FER) | ALBR KL | ALK | (FRR) | ALBR KL | AABRAK AL (FERT) | ALBR/K G | JLBR K dE
(i) (i) (m) (ni) (m) (ni) (m) (nt) (i) (nt) (mi) (ni)

k10

11

12

13

14

15

16 38, 577 106 148

17 41,517 114 158

18 44, 276 121 189| 8,261 23 46

19 44,027 120 170| 10,905 30 52

20 45, 260 124 170| 11,790 32 52

21 45, 456 125 —| 12,463 34 —| 3,83 36 -

22 43,856 120 —| 12,133 33 —| 18,219 50 -

23 43,880 120 —| 11,994 33 —| 23,210 64 -

24 42,363 116 —| 12,902 35 —| 25,097 69 —| 3,050 8 -

25 41,197 112 —| 13,216 36 —| 26,766 73 —| 6,206 17 -

26 44, 634 122 —| 11,495 31 —| 27,312 75 —| 6,539 18 -

27 45,221 123 —| 12,088 33 47| 27,110 74 —| 6,488 17 -

28 45,777 125 —| 12,183 33 58| 25,764 71 —| 6,039 17 29

29 44,678 123 —| 12,123 33 —| 26,546 73 —| 6,198 17 -

30 43,123 111 —| 12,120 33 —| 25712 70 —| 6,256 17 -
wRIt| 41,520 114 191 11,509 32 45| 24,363 67 96| 5,463 15 28

2 42, 556 117 224| 11,696 32 52 26,084 71 129 5,452 15 25
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